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	Pg
	Error – Third Printing
	Correction

	512
	Chapter 9, Answers to Question 13

Reads:

A. 10.11.0.0 /21
B. 10.11.0.0 /22
C. 10.11.253.0/25
D. 10.11.253.0/26
E. 10.11.253.128/29
F. 10.11.253.64/30
	Should read:

A. 10.11.0.0/21
B. 10.11.0.0/22
C. 10.11.4.0/25
D. 10.11.4.0/26
E. 10.11.4.64/25
F. 10.11.4.64/26


	638
	Appendix A, Answer Description to Question 13

Reads:

13. B, D, F. To produce a subnet that could accommodate 796 users would require 10 bits (1024 hosts). To accommodate 31 users would require 6 bits (64 hosts). The WAN links require 2 bits (four hosts). Starting with the largest subnet would require borrowing 2 bits, leaving the 10 bits for hosts. This creates a 10.11.0.0/22 network, which includes the range 10.11.0.0/22 – 0.11.251.255/22. The second network requires 6 bits, can start at 10.11.253.0/26, and would run to 10.11.253.63/24. The third network would start at the next available address (10.11.253.64/30) and run until 10.11.253.67/30.
	Should read:

13. A, D, F. To produce a subnet that could accommodate 796 users would require 10 bits (1024 hosts). To accommodate 31 users would require 6 bits (64 hosts).The WAN link requires 2 bits (4 hosts). Starting with the largest subnet require borrowing 2 bits, leaving 10 bits for hosts. This creates a 10.11.0.0/22 network which includes the range 10.11.0.0/ 22 – 10.11.3.255/22. The second network requires 6 bits, can start at 10.11.4.0/26, and would run to 10.11.4.63 /26. The third network would start at the next available address (10.11.4.64/30) and run until 10.11.4.67/30.


Corrections for January 7, 2015
	Pg
	Error – Third Printing
	Correction

	72
	Chapter 2, Example 2-1, Last four prompts

Reads:

Router(config)# line vty 0 4
Router(config-if)# interface Gi0/0
Router(config-if)# end
Router#
	Should read:

Router(config)# line vty 0 4
Router(config-line)# interface Gi0/0
Router(config-if)# end
Router#


	79
	Chapter 2, Seventh Bullet Point

Reads:

· Ctrl-Z : Exits the configuration mode and returns to user EXEC
	Should read:

· Ctrl-Z : Exits the configuration mode and returns to privileged EXEC

	92
	Chapter 2, Example 2-5

Reads:

SW-Floor-1# configure terminal
Enter configuration commands, one per line.  End with CNTL/Z.
SW-Floor-1(config)# line consle 0
SW-Floor-1(config-line)# password cisco
SW-Floor-1(config-line)# exit
SW-Floor-1(config)#
SW-Floor-1(config)# line vty 0 15
SW-Floor-1(config-line)# password cisco
SW-Floor-1(config-line)# end
SW-Floor-1#
%SYS-5-CONFIG_I: Configured from console by console

 

SW-Floor-1#
	Should read:

SW-Floor-1# configure terminal
Enter configuration commands, one per line.  End with CNTL/Z.
SW-Floor-1(config)# line consle 0
SW-Floor-1(config-line)# password cisco
SW-Floor-1(config-line)# login
SW-Floor-1(config-line)# exit
SW-Floor-1(config)#
SW-Floor-1(config)# line vty 0 4
SW-Floor-1(config-line)# password cisco
SW-Floor-1(config-line)# login 
SW-Floor-1(config-line)# end
SW-Floor-1#
%SYS-5-CONFIG_I: Configured from console by console

 

SW-Floor-1#

	103
	Chapter 2, Example 2-8, Seventh command down

Reads:

S1(config)# ip default-gateway 192.168.1.1
	Should read:

S1(config)# ip default-gateway 192.168.10.1


	107
	Chapter 2, Example 2-10, show ip interface brief Command Output –IP-Address for S1 and S2 

Reads:

S1 # show ip interface brief
Vlan1      192.158.10.2

S2 # show ip interface brief
Vlan1      192.158.10.3
	Should read:

S1 # show ip interface brief
Vlan1      192.168.10.2

S2 # show ip interface brief
Vlan1      192.168.10.3

	169
	Chapter 4, Table 4-2, IEEE Bluetooth 

Reads:

602.15: Bluetooth
	Should read:

802.15: Bluetooth

	241
	Chapter 5, Table 5-1, Year 1973, Description

Reads:

Ethernet invented by Dr. Robert Metcalf of Xerox Corp.
	Should read:

Ethernet invented by Dr. Robert Metcalfe of Xerox Corp.

	293
	Chapter 6, First Bullet, Third Sentence

Reads:

The minimum value for this field is 5 (that is, 532 = 160 bits = 20 bytes) and the maximum value is 15 (that is, 1532 = 480 bits = 60 bytes).
	Should read:

The minimum value for this field is 5 (that is, 5 x 32 = 160 bits = 20 bytes) and the maximum value is 15 (that is, 15 x 32 = 480 bits = 60 bytes).

	294
	Chapter 6, Third Paragraph, Last Sentence

Reads:

In sequence chapters, more information about TCP fields will be presented.
	Should read:

In subsequent chapters, more information about TCP fields will be presented.

	352
	Chapter 7, Top of Page, Interactive Graphic
Remove
	Remove:
Interactive Graphic  
Activity 7.1.1.8: TCP, UDP or Both

Go to the course online to perform this practice activity.

	360
	Chapter 7, Figure 7-15, Legend, Registered UDP Ports, Third Port 

Reads:

5040   SIP (VoIP)
	Should read:

5060   SIP (VoIP)

	374
	Chapter 7, Confirming Receipt of Segments, First Paragraph, Second Sentence
Reads:

The TCP services on the destination host acknowledge the data that it has received by the source application. 
	Should read:

When the TCP services on the destination host receives data, it sends an acknowledgement back to the host where the data originated. When the host that sourced the data receives this acknowledgement, this confirms that the data has been received.

	385
	Chapter 7, Fourth Paragraph, Second Sentence

Has extra Period (.)
	Remove:

Remove extra Period (.)

	412
	Chapter 8, Directed Broadcast, Fourth Sentence
Reads:

With a default configuration, Cisco does not forward directed broadcasts.
	Should read:
With a default configuration, Cisco routers do not forward directed broadcasts.

	629
	Appendix A, Chapter 2, Question 10, Answer, First Sentence

Reads:

This provides a ping to a remove host.
	Should read:

This provides a ping to a remote host.

	634
	Appendix A, Chapter 6, Question 5, Answer, Second Sentence

Reads:

Therefore, the host cannot communication outside its local network.
	Should read:
Therefore, the host cannot communicate outside its local network.


Corrections for July 10, 2014
	Pg
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	Correction

	157
	Chapter 3, Answer A to Question 9

Reads:

A. LAB
	Should read:

A. IAB
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